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MODEL TEST PAPER- .

(Based on Chapters 1 to 7) Max. Marks : 35

A. Fillinthe blanks. (10)

1. Placevalueofadigitdependsonits.................... inthe number.

2. 1000 added to a number increases the value of the digit in the

.................... place by 1.

3. Thenumberbywhichwedivideiscalled.................. :

4. Ifwe multiply3numbersinanyorder,the.................... will be the same.

5. Thesumisalways....................... thanthe numbers being added.

6. If you multiply a number by thousand, then you write ................... after

the number.

7. 9999isthe.................... 4-digit number.

8. Thenumberwhich comes aftera given numberisknownasits...............
B. Tick (V') thetrue and cross (*) the false statement. (5)

1. Thenumberwhichistobe multiplied, is called minuend. )

2. b6tens9ones=5tens19ones ’:

3. Ifweadd3 numbersinanyorder, their sum will be same. ®

4. Thenumberistobedividediscalledthe divisor. ®

5. Fraction number may be the half part of a whole. ®
C. Matchthe columns. (5)

1. Estimationis (i) theanswertoasubtractionsum.

2. Differenceis (ii) aprocessof puttingthings together.

3. Additionis (iii) the number from which the subtrahend

is subtracted.
4. Minuendis (iv) thesmallest4-digit number.
5. 1000is (v) theroughideathatwe make without
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doing actual calculation.
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1. Writeinexpandedformandadd.

(i) 6427 + 2842 (i) 2326 + 4673

2. Findthedifference of 8498 and 5623.

E. Solvethe following. (10)

1. Thetotal number of studentsinaschoolis4240. If the number of boys is
2860, find the number of girls.

2. AtaMother Dairy booth, 360 packets of full cream milk and 320 packets
of toned milk are sold each day. How many packets of milk are sold
altogetherinaweek?

3. My father distributes 1742 toys to the children. If he gives 13 toys to
each child then how many children get the toys ?

4. A company has 1620 workers in all, Out of which 970 are females. The
half of the males have gone to attend a special function along with 360
females. How many males are there in that company? How many
workers have gone to attend the function ?

5. Write the place value of the digits in 3834. How much will be the sum if

we add 4798 tothe number 38347
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